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IInntteerrmmeeddiiaattee  PPaarraaggrraapphh  CCoorrrreeccttiioonn  1111  
 

DDiirreeccttiioonnss:: Read the passage below. Then answer questions about errors in the passage. 

                                                                                                                                                                                                         

 

            Suraj is the IT manager in a small company. He manages all the computers and 1) sell phones in 

the company. He also gives computer training to the workers every time 2) they’re is a large update. 

People 3) often call Suraj about their computer problems. He always has a long list of problems he needs 

4) troubleshoot. Today he is going to replace a keyboard which no longer works 5) write. Then he is 

going to repair a problem with the company’s wireless connection.  Suraj actually needs 6) a assistant to 

help with his work, but the company can’t afford to 7) higher won. 8) Almost none work gets done when 

the computers aren’t working work properly. Suraj is mindful of the importance of his job.

1)  

A. cel 

B. cell 

C. sale 

D. seal 

E. Correct as is 

 

2) 

A. theyre 

B. their    

C. there 

D. they are 

E. Both C and D are correct 

F. Correct as is 

 

3) 

A. call often Suraj 

B. often Suraj call 

C. are often calling Suraj 

D. Correct as is 

 

4) 

A. trouble shooted. 

B. two troubleshoot. 

C. too troubleshoot. 

D. to troubleshoot. 

 

5) 

A. rite. 

B. right. 

C. wright. 

D. correctly. 

E. Both A and B 

F. Both B and D 

 

6)  

A. an assistant 

B. the assistant 

C. this assistant 

D. Correct as is 

 

7) 

A. hire won. 

B. higher one. 

C. high one. 

D. hire one. 

E. Correct as is 

 

8) 

A. Almost any 

B. Very little 

C. Very small 

D. Correct as is 


